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Where,

Mij = is the actual marks obtained by the jth candidate in ilhshift
= jth ~ % jth an.<Nf %"Sl'T"RiCfi

Mf = is the average marks of the top 0.1% of the candidates considering all shifts
=ro~%3f~~it~mO.1%~%~atCfl

Mg = is the sum of mean and standard deviation marks of the candidates in the paper
considering all shifts
= ro ~ % an.~ % ~ % ~ ~ ~ ~~R (lfRCfi ~ :q~'1) CfiT<:il<r

Mti = is the average marks of the top 0.1% of the candidates in the ithshift
= an.<Nf <fiT ~ (jth ~) %m 0.1% an.~ % ~ atCfl

Miq = is the sum of the mean marks and standard deviation of the i" shift
= ~~ <fiT ~ (jth ~) % ro ~ % ~ ~ ~ ~~R (lfRCfi Fcl:q~'1)
CfiT<:il<r
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